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QUESTION 1

You want to disable MAC learning only for interface ge-0/0/0.0 on an MX Series device. Which syntax will accomplish
this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/task/configuration/layer-2-servicesmac-bridge-
domain-or-logical-interface-disabling-learning-for.html 

 

QUESTION 2

Click the Exhibit button. 
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You configured R1 and R2 to form an OSPF adjacency, but the adjacency will not establish. Referring to the exhibit,
which statement correctly identifies the problem? 

A. Hello and dead timers are not matching between R1 and R2 

B. R1 does not have a router ID defined 

C. R1 and R2 have the same router ID 

D. R2 has a wrong area configured 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ router-id-edit-
routing-options.html 

 

QUESTION 3

Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link? 

A. fate-sharing 

B. explicit null configuration 

C. policy control over LSP selection 

D. LSP metrics 

Correct Answer: A 

 

QUESTION 4

Which two high availability features preserve interface and kernel information during reconvergence? (Choose two.) 

A. graceful restart (GR) 

B. nonstop bridging (NSB) 

C. nonstop active routing (NSR) 

D. graceful Routing Engine switchover (GRES) 

Correct Answer: CD 

 

QUESTION 5

Which two functions are performed by the OSPF designated router? (Choose two.) 

A. It advertises link-state information to the AS 
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B. It designates some routers as inactive when not needed 

C. It forms adjacencies with all the other OSPF routers on the link 

D. It chooses the backup designated router 

Correct Answer: AC 

Reference: https://sites.google.com/site/amitsciscozone/home/juniper-junos/junos--ospf-designated-router 

Latest JN0-362 Dumps JN0-362 Practice Test JN0-362 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest JN0-362 Dumps | JN0-362 Practice Test | JN0-362 Exam Questions                                7 / 7

https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html

